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End Semester Examination of Semester—I, 2015
Subject : ECONOMICS (Hons) (UG)
Paper : I
Full Marks : 40
Time : 2 Hrs

The figures in the margin indicate the marks
corresponding to the question

Candidates are requested to give their answers
in their own word as far as practicable.

Hllustrate the answers wherever necessary

' Group A

Answer any two out of four questions : - 10x2=20

1. Explain the shapes of (i) PCC and demand cure and (ii)
ICC and Engel curve for perfectly complementary and
perfectly substitute goods.

2. Explain the basic properties of Cobb-Douglas production
function. Is customary ‘U’ shaped average cost curve
consistent with Cobb-Douglas production function Give
reasons in support of your answer. 8+2

3. ‘Long;run total cost curve is an envelope curve and it gives
minimum cost of producing a product in the long-run’.
Explain the statement with diagram.
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4. Explain the significance of Revealed Preference Approach

(RP) to Justify consumer behaviour. Make a comparison
between IC approach and RP approach to explain the ‘law

of demand’. 5+5
Group B

Answer any two out of four questions : 5x2=10

S. Explafin the conditions under which Hicks and Slutsky
substitution effects give the same result.

6. In a production process, how would you define efficient
region of substitution between two inputs?

7. Optimize the utility function U = 4xy — y2 subject to the
budget constraint 2x + y = 6.

8. What is a CES production function? Obtain the value of
elasticity of substitution for such a production function.

2+3
Group C

Answer any five out of ten questions : 2x5=10

9. If a consumer consumes exactly two goods in equilibrium,
can both of them be inferior goods?

10. In the indifference curve analysis, the demand curve for
a good is downward-sloping. Can we say that the good
is necessarily normal?

\ 11. If E; is less than unity, show that a consumer spends less

on a commodity if its price falls.
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12.

13.
14.

15.
16.

17.

18.
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When prices are (p;, p2) = (1, 2) a consumer demands
(X1, X2) = (1, 2) and when prices are (q;, q2) = (2, 1) the
consumer demands (v, ¥2) = (2, 1). Is this behaviour
consistent with WARP?

What relations do exist between ‘retums to scale’ and the
shape of LAC curve?

Does averége product begin to fall as soon as marginal
product does? Which one occurs first and why?

What do you mean by ‘Veblen Effect’? Explain.

Obtain the value of MRS for the utility function U = xy,
where x and y are two goods.

Diagrammatically show ‘the law of diminishing returns’ as
applicable to the ‘Theory of Firms’.

Write down a ‘linear homogenous production function’.
Show why it is linearly -homogenous.
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